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TERM TWO MID-TERM EXAM 2010
MATHEMATICS FORM 2
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1. Use logarithms to evaluate							(3mks)

        6998x25.1
            132.7









2. Use reciprocal tables to evaluate.						(3 mks)

    4      -    5
0.375    37.5










3. Simplify: x + 2x – 3 + 2x + 2							(3 mks)
                   4         3           4












4. The sum of interior angles of a regular n-sided polygon is 10800. Find the size of each interior angle of the polygon.						(3 mks)












5. The number of cattle, goats and sheep in a farm are in the ratio 6:2:3. If the animals in the farm are to be reduced by ¼, ½ and 1/3 respectively, find how many are left if initially there were 1450 animals on the farm.		(4 mks)


















6. Solve the following simultaneous equations.				(3 mks)

3x + 2y = 13
5x – 3y = 15










7.  Find the angles a, x, b and c in the figure below.				(4mks)



























8. A business woman bought 288 bananas at sh.10 for every 12. She sold all of them at sh. 20 for every 18. What was her percentage profit?			(4mks)



















9. Given the following currency exchange rates calculate to 3 sf the number of dollars that can be exchanged for 25 sterling pounds.			(3mks)
1US dollar $ = Kshs.76.85
1 Sterling pound (£) = Kshs. 115.30.
















10. Evaluate: 8 x 1/3 of 9 ÷ 2 – 2/3 of 144 ÷ 12 + 2x3				(3 mks)
                                  ¾ of 36 ÷ 3 – 4 ÷ (2/5 x 10) + 3x - 2
                                    












11.  Express 5.81 as mixed fraction.						(2mks)








12.  A rectangle which measures 18cm by 8cm has the square. Find which figure has the greater perimeter and by how much. 					(3 mks)



13. A sales lady is paid commission at the rate of 3% on all goods she sells. During one month, she sold 12 television at sh. 15,500 each, 8 D.V.D player at sh. 5,650 and 4 refrigerators at sh. 21,700 each. Calculate the total commission she earned in that month. 								(3 mks)
















14. The wheel of a bicycle has a diameter of 70 cm and makes 2 revolutions per minute. Calculate the speed of the bicycle in km/h.			(3mks)













15. A line passes through the points P(-4, 9) and Q(4, -3). Write down the equation of the line in the form x + y = 1							(3 mks)
                                      a    b











16. Awuor uses one third of her farm for coffee, one quarter for tea and two fifths of the remainder for mixed farming. She still has 6 hectares of unused land. Find the size of her farm.								(3 mks)














17.  A straight line L1 has gradient -½ and passes through the point P(1, -3). Another line L2 passes through the point Q(1, -3) and R(4, 5). Find.

a. The equation of L1.							(2 mks)






b. The gradient of L2.							(1 mk)







c. The equation of L2							(2mks)








d. The coordinates of the point of intersection of L1 and L2.	(3 mks)




e. The equation of a line through R and parallel to L1.		(2 mks)









 
18. The table below shows the amount of money charged for hiring a car for a given distance. 

	Distance covered (Km)
	10
	20
	30
	40
	50

	Charges (sh)
	75
	100
	125
	150
	175



a. On the graph paper provided draw a graph of the charges against the distance covered.									(3mks)

b. Use your graph to find 

i. The standing charge.							(1mk)







ii. How much money is charged for covering a distance of		(3mks)
28 km


33 km 



42 km

	
The distance covered if the following is charged.				(3 mks)

Shs. 131



Shs. 140 

Shs. 190




19. A tea farm is in the shape (not drawn to scale) Shown below.











a. Using a scale of 1:500, find the area of the farm in hectares.		(6 mks)







b. Taking XY as the base line and assuming that the survey is from X to Y, enter the actual measurements of the farm in a surveyor field book.		(4 mks)



















20.  The diagram below shows cross-section of a structure used as part of building construction design. All dimensions are given in metres and structure is 6 metres long.






a. Calculate 

i. The cross-sectional area of the structure.				(3mks)







ii. The volume of the structure.						(2 mks)







b. The material used to fill the structure is concrete made by mixing gravel, sand and cement in the ratio 6:5:2 by mass. Given that the density of concrete is 1.3g/cm3 calculate the mass of each component in the concrete.	(5 mks)





















21. Triangle ABC has vertices A (1, 3), B (-2, -2) and C (4, -1). Represent the triangle on a Cartesian plane on the graph provided.				(1 mk)

i. Reflect triangle ABC in the line x + y = 0. State the coordination of A’, B’ and C the images of A, B and C respectively.					(3mks)










ii. Reflect the triangle A’B’C’ in the line y =0. State the coordinates of A”, B” and C” the images of A’, B’, and C’.							(3 mks)









iii. Triangle ABC can be mapped onto triangle A”B”C” by a rotation. Find the centre and angle of this rotation.						(3 mks)
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